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(a) sin®x +costy=1. @
(b) y=x 2)
(€ x=a(t—sint)y=a(l +cost) 2)

21. Evaluate the following integrals :

22
sin x
(@ .f sinx +cosx O 3)
0
n
2
() J sin’x dx (1)
-
2
(©) _[ x sin 3x dx @

22. (a) Find the area bounded by the curve y = sin x and the lines x = 0, x = 2x, and
X axis. : (1)
(b) Two fences are made in a grass field as shown in the figure. A cow is tied at the
point O with a rope of length 3 m.
B“
:
!"=‘:.

| ‘

Of——— 20m ——————2A

(i} Using integration, find the maximum area of grass that cow can graze within
the fences. Choose O as origin. ) {4)

(ii) If there is no fences find the maximum area of grass that cow can graze 7 (1)
5Y 27 : 12


https://studentmap.in/



https://studentmap.in/



https://studentmap.in/



https://studentmap.in/

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

